E')\ DL

= — fress

er -6 1-‘“@\} — =
1 e +5ca%3 (=3 et )Lg&n?{]'?(‘ﬁ‘hqj_@
‘;Q: ——_0 == i U VQL+ '
(j —Qﬁ\né}tf'u},&lg ) = - pq_ QWL:-(BM%YL\
d,QL = IRy i 2/\ h

Vecten Fanpent @4 cvude

=Ny di - Gt ~
) b
F IR
=ib= W
Ve cxeun OLgu;.Q&LuhM 3 4 wal
R

— T |
Yy = Fesiet+36 w0ttt

- du = 4 (667 %)

df P B e, R [ = e 1
= N6y Vo4 troey \(?6(%421#6@3?7‘}#69/
V&Og@_;.f_rga(,gie?\ P = (/ Noo
e " 0’1., 2l - o' D (\/(/ _ /(0
: P |
N e Jerf('amf R o T T
- i .C‘D[—/Vs; - bl 0['1 k.
Mo - = YosFds aSiFao A
&:3&1),_::_—_’3 5’ ~ 3 '—:35'-3“ - s {_ _53 3 —
e U = =30 L3 a2t U ke
g o
Vet @ = —2(3)esaage]? B 15 4%



